eis Hep Widll AL Breolul wls vl Mase aid 8, wd), wWud wdl As Budl vl
S, HIRL ¥ di dMiRL Bl A Adigsdl ™d (Hide and seek) 24 691, il UM 2Rl A2 W B &
sl gudel Bl oo altandl 8. 30 sl §5d AL o af ad A wud -l gwadl wou R
ol 431 wglA.

), 248l ol s MR €A, WA 3 2R 25 uRas Wzl Gid digal B Ful 2R 2x +
4 =0 uvlse 2lg B dl x-l o Gud €18 a4d ? 2 AxRAL wawsl W2 wuEl dlsae
2x = —4+{l {d a0sqgll sl wid, A Wil x = —4/2, 2yl Wl weust -2 A,

Ad), HUYN 2iY GeldlwRl eS2. 28 2idlw U "Eloquent” AL 218 At B, 2L WS S s viAw
curl-l 205y ASY. AoeHUHL AR UKL A deil viel AU B, 9l v 12l seudl SR el
el ML S0 Sl v YU s34 w2 a QY B 3 20 s 4l vied] Bsuell 56 A 53 w8
1? ehlsami neefunl 2ol s {d 2Dsadal §lu S A+l U SUEl Ay A, G % wsk) "B
ol 43 - acl i Al Auell s1dl Ul A 2 "E" ¢l 93 Ay dal €l el 43 s ¢, N o
Fd ol naR "M QU dal wsel Wl M2 518l sl ygla (elimination method) Al Gualal sl
gl 20yl vt 531 Aviclsll wglinl o GualoL subl-il vl Wacel we AR Bl % i Yol 2uugd
S[REyd wse Aol « W,

Gu-il GelgRRidll 2uuRA wte el & Wi 3l S ad 7 unulyg s Ry alda s
Pl s (DS ugRARAL 51d) auAAsdl] SEBA WReuY ANal d§ 4 u 8. 6w vl slal
Gergrell euld © ¥ J2els Wil uRsuMAl 20Ul Wty Ad 57 usiy B wul J2dls AR -L
Qs wRRIAHA viowdl saell arll Yada . 21 Ad WG & wsRyl qaflRe 570 wny : Wi A
R 53¢l 2 e Juvil adla-dl A Gur wendal Gelgelui oo uisl ol elwdl W W
Ad aeldel axu-l & wul uddl emdl A e v RAL 8, udl dil Adlh KU 3 W
AHRUBAL dad QSU el U U B Bl Bl G WHRLAL G3aAl dolsst (waei) vaL W fd
qeldl afla ¢lal, 2 yel eflsd B 3 £ §5d W JuIvL Hladl WAl o G3d ald B uin 2uxl
2D 2L WEWRAL 5 W FUInll YRl (well defined) ¥R eusid o Al sdls).

sl Aaul A6 R 2l UL G B sz Wl sMs Yaril o B, el vk
aaciell sell sjudiiedl RAY wsiR-l sl 634 S, xR Gha W12 $2en, JA-UI-L AYel
o8l WML W . Bl YANB HYRAA €35 dotsd 3 s B A WU B, g A, WU We Ak 3
5923 Md xR Gia eldl usg Al weL d AHHL Bhanl 5d Hee3u wy 8. (A wruddl widid
wivuiRalell 24 S uRL MR Gie aldl wf el

AHRAL, AR, $3),

$Y2, UB2Y2 WA ANRUAL AR 2D

AL GIaril wEdL 1adl [Rsell QML

BuR wrendel RRY Rsed-] welHidl Wl R [@Asey yiie .

AR 4] s3el Rsey W2 RdldaR 4B Qa1 QR KL

UYL AUIR 536l YUivdlel dlel gL uRBwAL duedil s

2UYEl Adal wais wA © & 34 A sl

N oL AW
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% el Gid Anadl S A wadl 184 5 s2du-l B B3 wolel 6 2inl 7 s o ud,

QA 3 2D 516 uldl v A4 B I ALl d MG B. Bl W Griz W2 Al wudell YAl Gudlol
&1 asy :

1 v $eye dl.
2. QAL 2 93 GUR WA AN AL

3. ol A1 28 dl 2uled] v R4 B Adldr o AvL A4l B,
B AL A 6 1A wpnde] e Adl R Aadl Wy :

1. YA 88 (Pseudo code) - s Sl
2. & (Flowchart) - $1el 3Rt
3. w1elRYY (Algorithm) - sa-[AM

el deul 214 B % 04 d Rl w2 GuR weudal H8l udlel B YA S8 (Pseudo code) 8. YA 2Q
wueurl]l vyal viswL s36l (simulated). WD wiidl ol vl el WY sRe I 2l uvsL
aeclui A at? ofudud) gee B, BN 21 Ual G3a W2 Gu Ul 2Rl YaLala Brsm s3dl S8 sl
gl Al 8d siey & Il [AA uz AnellA.

$l202 (Flowchart)

sl A As sAAM O Ful AMAUAL G3A H2 Yot gL KA Bddl 835 s Roldws a3l
Sl wid 8. el Yel sl R ARM R Gudlol sl sirlaql wy 8. 2 AR sl
828 sdaui 2ud 8. 2uuell Wi WBA-L 635 sid W2 a0 vasl (des) Ra B, Ald), ¢d 2y aud
QURAL 426l WA Al RA) elsid yal s30A.

BTN VA id (Start and End) : 236 uA vid 429 $eudAl 232id 2 vid sldiddl W2 duAd
8. A 2usf 9.140 ealet W s A B, 2 RAA vl A&l (Blda Rueda) wa sdawi

w1d B,
START 97

END

2usfd 9.1 : 2Rlna Reolg
A wal sl 2 Ra A AR auy B 1 selAl A3AHL AUy Al 2idM.

6y2 - 2162y2 (Input-Output) : e3s uRAUA S-y2 (AU ¥R da B, 2 Mda Gur B
sl WA B v d wBeye (fluwr-Gadled) dwir 43 8. & Gur euddl wa 3 d), 2l Wl
By Houldl Seyerdl wR 8, v wldl ¥uad 2 @ el A A Whad]l B WBw 8 WA
wud el dvul N4 D 3 A A Fiely A wug 26eye B, il BUUR As Sy A Ns
Geye edladl W2 Ra ASA. sl Sy v wuGeye sulaal W2 2ugla 9.240 el vl
AMidR Agefr auy B,

176 $Uy23-ubuA ; 10



v

Prowvide a Numbar

g

Process

v

Print the Given Number
is CDD

\7
augld 92 : Sqayz-auGeye wed Ra

dR (22 - Arrow) : @ugl 9.1 A 2R 9.2 FAaw A A weud 3 Wwud Rad e
g duy Red]l ol dad R (M) adldg 8. sd ¥ su sRaled du A salaal 1R ke
Gualol wd B, AU Ad A Radl a3 wy & wd ol Re Gu Al ¥id 2d S, 2 A
Vs R Vs Restiel sl & i 2s AR d Redl vie: wu 8.

wdl Ala 52 ¥ start Radid]l s5d ek wg R ® U End Reil §sd d-ll e ag
diR 8,

wadl (Process) : A st WAl Gladl uBUL (process) W Yuu ool B, gflsani WBw A
Bard-l As Qe 8. uBuA eulaar w2 gl 934l ealen wud As dodag Rad »uud

Gualal s el
Q=no/10 R=Int(x/2)*2
(Divide the given number by 10) (Find the remamnder when x divided by 2)

I !

sl 93 : wBus Re

Wy, dld syl uBu 3 soRad A5 sl wua s Gu du 8. visofidd sl ved
UL, slesldl, AN 2cl eous, dlfs sd e Ad Rely Aol Heegu wy 8 Ul
A A Ul €L F Al WHRAL yus MR duAY B, edl dld, wud ws yedla 3 10 W 5 sl
W2 B 7 il wsrdl was ‘G pad WAL B,

Relu (Decision) : AwEs Melu-ll WFWA vzl 9400 calon WHIA As R -l Raell ealaari
pid B, a7 wilaa Re (22 RBosld) yel sddmi 2ud 8, »wd 2yd Gla w2l wsu- A=l
seadl S0l du (R0 sk 9.4) vudl FRladl wRaumdl sl AS sy Atn-d 2na el
3 du () susl 9.5) ud ReluAdl (decision box) 4wy 9.

AN A unAg [Rusa 177



False

e
J, i
y

gl 9.4 : Relu Rs augld 95 : qel el WRauddl 2na

ys uud [l dami A s2di gl Rsaddl wuma o3 W3 8. wal Al gl 9.6ul eulon
WA As sl atd Fefaddada Al 3 Rsey odladil 2ud 8.

Statement set-1 Execution —D

Statement set-2 Execution _D

Statement set-3 Execution _[>

wusld 9.6 : s sl awd [ead Adm

178 FMA2BAAA : 10



susf 9.64 eulen wwd Amun 2d dwaml 204 O A A A uRBenn wi 2wd dl wdal
Rl amdl wia 2dl o uRaud v wud dl ol® d dwari wad. w uBa widl
ol Wl W2 &eAR Al v, wudl A AL R 3 R AS By wrdg wRsud W wud
dl d ulfl Wwd awaasl suadl el

vt [f& Connector : wiaiti- Ria sulaal w2 adu P& quan B, uys aud 3 wsu B 3
gdld v2dl WA ol 2d § A s welrl el A sy val 6 uBUA R Q Al usy A
o, wudl YRRARAL 68 oudsid wsal w2 v Re (s152) anRacd 2wd & wae we
el el A ada w30 B; sl 9.74 sulan WA As R adu-dl e g 2 oy dl2
adanidl s8R suaq. Pel el w4 Ra dWavdl W2 wdd wadn wad Ada
Uy B,

Break From One Flowchart

L

.\« I’
. "’

s

N

v
Joining Another Flowchart

gl 9.7 : vqgpin Rie (41s22)

slalel Gelgaell

By YU D o 3 sl 3§ B 2 Al quAA R slold MLl AN, Ad), ¢d L
selAd ol dedls Al Gla aidld,

Gerdanl 1 : 9{ldl Gur aldl aduaadl Bad 10 3. AL §l2 8. ¢d WA 3 20yl AHAUL doiARY
SR 2L AR HL w3 BuR gl adnadirdl g4 Bud faadl 8,

opelly :

oflsl Gu @gl aduaaldl ga wd dbdal W2 WU uwdal onlld Aaign udg W Wud el
¢l & doAlRug Astst 3 drll doud wa udoudal oRusiz 8. 2l wusl A ueudel dous n
S MRldl 1SA dl dorllug Asign AL wblul. ol Asign AMalL 2 v Hsl Yol sudl
AsY ¢ AN = doitS x ydud

¥d {l Gur cuel @dnaadl ga Boaid dal 22 wud onlldd da1s0 i 2y AL $l2 asuawdl
Badsl seusiz sl W, g4 Baud duald Yot @ ga Bud = Axs0 x 10.

wdl AHRUIAL Gie W2 2UE AR A4 Adign, dons, udlond ud Buadl #3 ud 8. ¢ wa
atidl 4dal sl uddl use Yarfl e 430, SR8 3 A et sARIEHL auuy 8.

A (Variable) : Ad 2 ¥s AR (entity) & ¥+l Bid UBU-L HHd el sleel w51y & w0
an Bad a1l asiy 8.

ol GuR alel @daail Bia e salud 2usf 9.84 salad B,

qvRL wd AHRALg Ausw 179



Area= Length * Breadth

)

Cost=Area* 10

g

!
( End )

susld 9.8 : wdl aouaa-dl Bud Awa-d saiul

welafd Gud = &a50 x 1040 Bud 10 g, 2l 10 3 vyn (Bad) sdauy 8. au s Adl
Al B, 2l Bud A5 R WA A ugl el wBw e dnl R Ydl el vd A
dl 28 8, sl 9.8u euldal sdlwd g wWud ¥ Gla AndlR GlA A s N BRus
o AUl wsiw w3 A Al Sl Al @dunaadl Bod 3. 10 Q. A digl dsuadidl Baadl 38R
wy dl GUR eeuddl Gla 4 wd. GuR weudd] WAl udArUY Gla dugla 9.940 2wddl 8.

< Start )
/ Input Length, Breadth. /
Cost Per Sqft

Area= Length * Breadth

y

Total_Cost=Area* Cost_Per_Sqft

g

/ Print Total_Cost /

!
( End >

ugld 9.9 : adl @uaardl v Daad Yuda sdeud

180 £9222 AWYA : 10



4l 9.94 (lae 530, il U WA oled uiA e Gualal il B. 2l Cost Per Sqft il
GuloL A ). Fl2 a@dl @dnadiell Guasl e s {2 2l B, e3s wud W d- Baadi 38R
53 Al v 2Un w3 WG2y2 Andl bl ses 9.141 val zals wBeye waal 8.

Length | Breadth | Area=Length*Breadth Cost Per Sqft | Total Cost=Area*Cost_Per Sqft

50 50 2500 10 25000
25 75 1875 10 18750
45 35 1575 2 31500

fes 91 : wuyld 9.9 suldar swdy wubeye

Gerdamt 2 ¢ WL ¥ A AL UM Aganl Bls Ye A adm Bled, et B, -l AwHad
2l Aeil g2 AU s=uacl $20 B, AL Guid Al AYel Aeidd didt (waRdd A adal wa
Jan wnunl gRuell ol )l aisal $26 8. Anilall MRdl Wl B 3 deal 2l i Add ?
Al 2 w9l ¢aal $6 B ¥ et g Az Jad B 3 ¥4 dl- A aisadl w3 8.

el :

il Sl BiA W2 WA Aeldr AAs A Al URBUQ Wadl ugd. AN Aewid Axlgt AMal
W Yol Aasn = 1 ¥ R? v Aelrell WRBA =2 * 7 * R (3] ol (B3 3.14 @14 R A
AeidAl B 8)

el L WAL B3 W2 A” U4 Radius (Biul), Area (2159) vidl Perimeter (WRAR) wiua
R ull. sl A Aasaell oRidl ud Aeiddl URMR Dual w2 ¥ Yot andly A
wlal 8.

Area = 3.14 * Radius * Radius (A5 = 3.14 * Biau * Biardl)
vl Perimeter = 2 * 3.14 * Radius (WRBIR = 2 * 3,14 * Bia))

C sant D)
¥

/ Input Radius /

Area= 3.14 * Radius * Radius

!

Perimeter =2 * 3,14 * Radius

/ Print Area
Print Perimeter

v
. Ead )

sl 9.10 : adad A wd uRMA Ayl sdwd

R M yuAg Rasa 181




Berganl 3 ¢ oIyl slegiefl 6 ad+ll 11.5 2si-1 g2ell 35,000 3.0 et ey, dellad s J2g e
% Ysad uid d-{l aleiddl &3

YaAlt]

A dldrll yed W P, aurel g R 2 N al HRdl el euy T ol awddl weq Yo
I = (P*R*N)/100 ®. %1l sl G3¢ W2 VS AR A4 I, P, R, N 24 »ua Bad 100+ 32 wsd.
w1 Ral Gia sl 9.1141 seddl Juni suleld 8.

< Start >
!

InputP.R. N

!

I=(P*R*N)/100

!

PrintI

J;
C End )

vugld 9.11 : we cuy-d ARadl WAl sdud

Gewdam 4 : WA ¥ A Reweffinidl axl u-dl G-l Rendl udl 8, v Rxusl @l Gur
2 [da (8qye) «d.

L]
Guil WAl G4 (1A wRudel Bl sl yad :

Asian ol Reuslfildl Gurd Sy (Rda) dl. d G4 Age 1 ¥ Age 2 ¥adi vl ¢d Age |
il Age 2+l (Bata-{l avumell s30. A oid Bud vl Qu dl 208l WA avll Gur-u siqd Renyl
8 A el ol ML L B, o Age 1l Bod Age 2 sl 209l U dl uddl Rendl Al 8,
Adlar ol [Renel v wai Glard s sl 9.1241 2wl B,

182 $922-UUA : 10



( Start \>
v

Input age of first student, call it Age 1
Input age of second student. call it Age 2

Age 1< Age 2 Age 1 Age_1>Age

v
/ Print First student is /-"' Both students have //// Print Second
y youngest > same age student is youngest

l JZ |
A
w912 : A Renelloduisd - Rendl duad sdaud

Gergam 5 : ¢ ud e QendBlaidl Wl -l Renel DuaAl vt sAV.

o] :

Auun o Aadlil-l Guad Sqye dl wua d 24 Age 1, Age 2 ¥ Age 3ui vl A 218l Bud
sl lu dl 2uuel W AR wvll Gur-l Rendl &, el A8 [Qenefila Al il sl sud.

A W A QU dl Age 1 uil Age 21 urvuell 5 A Age 10 Bad Age 2 sdl 2l €l ol
Age 1 A Age 3 Wl Anndl n ¢ Age 1 3 Age 3 sl il . dl udel Renell u-usi
Al B,

Gur % AvuHell 53 ddl A Age 2 W Age 1 Rl el U dl Age 24 Age 3 w8 dvid) wA

A Age 2 ¥ Age 3 sdl 2Dl S ol ofld Renell vl \iel B, 20 Ry S Rendl -l
Ul B, 2 Na-l Gia-l sdlad gl 9.1341 wAel S,

Start

Input age of first student, call it Age_1
Inputage of second student, call it Age 2
Inputage of third student, call it Age 3

Yet Age 1

/" Alistudents have same
age Vs

/" PrintFirst studentis /" PrintSecondsudentis " PrintThird studentis
Yyoungest // ’ / youngest 5 // youngest /f
| >l L

AL M adrRuy Rusa 183



Gedizm 6 : WA, G-l GeldEll ¢@ wa YU B A adlen o Rendudaiid] Aunl
Al [enell sleflal, i wa- Gia w2 A wRudal uaaidl Gudlsl s wsy

wig 1 :uddl Rendl 6l 23 dAdl A6 wa G ¢y, Wil 3 d MINIMUM 8.
wad 2 :e¢d oflB Renel wale A A Al GrR MINIMUM wudd d<l a8 ueud.

wig 3 ;A A Qe G 20l du d d-ll G MINIMUM oietidly 34 21006+l ReueH
GuR 2w s34l

wig 4 A sid Renellsl G vl @ dl ddr ReueflHl G-l wqvRA sami wWad
A w264 Renel]l G2 v ya MINIMUM 8.

wid 5 : M GuR wuddl wildl 3 A 44 yauadd wg welly 3 aui Yl ol Rendldui
Al A Renell suvae) Holl oy, ond wys Ra-dA A sl Al qvid yrakia
sl 20d dd gu (Loop) sl wd 8.

Wl ugdl Gladl sl wil 9.1440 wddl 8.

& Start )
|
Input total number of students . call it
Max No
v
‘ Count= 1 l
!

Input age of a student. call it Age

Min=Age Min=Age

Print Min

|

_ End D

sugfd 9.14 : adn o Renslfodaill DNl Yt Daad sl

Gergae 7 ¢ wd), ¢ NS ws AR U Giclal, wRl 3 Ul uddl 50 W4 AvaL (odd numbers)
el UG sl S4B B, W2d I WM 1+ 3+ 5+ 7 + ... + 994 AL s Sxdl ¢,

YAUN :

WA Y dudl W & olisy () B, 21y 1oL sredil 29, ol ogren aignl, ¢d ol shg-u ofisunl s
audldl 48 A ¢ o slisA Rl gladl AL oS viel s A doll gLl B HlsUL AR
auddl Y4 i dn wen gl Wl silsunl vudl sA (sedl sA). vuell el dladl Wl sllsudl

184 589239 : 10



hoell 94l 7 ogu eladl ddL ollsudl dd g4 1+ 3 qulldledl @dl. o 2uvel 2w w5, 7, ... 99
a0 WA g Avllel dl wHRL eladi Al olisudl 1 +3 + 5+ 7 + ...+ 99 arddal ¢l wdl A
“llt 520 3 U8 WG 3 Rl Sl ollsy AUl vid] O,

. Guid uq3u, 2uQ 8 A4 numb WA sum @SH. numb ud+l azvddl Bud 1 WA sum<]
Bud 0 (vuel olisaiell Fu) Avllal, ¢d ¢uel ¢35 A numb Adl Bud 24l aurawmi 20 8
WA ddl BHd sumdl GRRAAL 20d 8. el numb Al Gud siealdl WA v A 1, 3, 5, ...
vl Bed 99 oi-d, il guel »id 2d Al Y A sum = sum + numbell numb-ll Bud
sumi GAAA WA 2w uadl s gl 9.1541 wWld) 8.

Start

sum = sum + numb

l

numb = numb + 2

Yes Is No
< Numb < 100

-~
ﬁrint, “SUM=", sun/
(o) '

sugld 9.15 : 1l 99 Yl 2 dawrilu Al s
Gelgamt § @ ¢d M8l o wadl Budadl 2zawiedl sadl 6 gl g€l FAd S

wdiey :

6l 44 A ¥d B Al 2 A vedl B4 56 2y Bad ad sieaiil iad dl dil azsidal 8l Faa
ARl Audlel. 2uel wuRl s auudl A4 Cel Guddal s Al Bda waad w8 d w2 ddl
Bud udal 248l CHl aAvilal, d uedl B+l Bua 2uugl Axi af oful v cur sle A<l Auddl
Bad (% Cui wildl 8) Bul af oda. sl 9.1640 21 Glardl sdlué widl 8,

gl 9.1740 ¥l % Wairil Glarl sl AL B, wa Aul qtiRuril A GualaL Ad) el vvR
Bad sleeidl 312 AL il seolldld)l Gualol s3dl 8,

qHAL v AHAUL] Ruswel 185



Print, “give two values” ////;ﬁnt“gwehﬁovmuay

: :

C=A A=A+B
A=B B=A-B
B=C A=A-B
PrintA , B PrintA, B
End End
wusld 9.16 : amRw A4-D Guala s34 gl 9.17 : qHR-U 24
Bua-l wgcuoigdl @ Buadl xecusisel

A2 (Flowcharf)«l SIUEI ¥ AU (Advantages and Disadvantages of Flowchart)

U1 2B A6 URL UsR-L 26 (tools) AR ln, U d-ll k2dls gluelpll wA R§lueIv) &l
8. g A vuale Yl d-ll J2als slueill A valsd 8,
FAlUSAU SWUEL :
1L d 3Rl B3 Roiols a3 29 sudl dlaiel AHaral e A0 8.
2. d sl YA duial vs o uqgn dee YIl ul 8.
3. uuRArL Giaxl voalaidl aflan saauni e YAl UHA AUed oln B,
4, wvurl Qe el ¥dl Al R Al sl A veeu o B, FA R ¥id A
uvlnell eaRad sraudl adag d Y3 ur 8,
sAlAZ- ARSI :
1. D 29 el wal-l sl elRald s asl ¥uy Al 4 8 A d usndealy
s 8,
2. sl wAs R S B 2 el NBUHAL dfil AS v e KUl s wud
Adl sl elra-l ¥3: W 8.
3. s 2 dzal [EodaR wRldal Al S D@ <l el Asus ddanoll AHIA
selald A+l viea-l R xnad1 W B,
wadNRYN (Algorithm) (sa-laflR)
dHIRl (ot daiRl 82 2udl Al 8 i gd ARl Rwadl 2uadidl S AW B, d add §ld R 8
e il Ram Pl udinadl B yd 8. e 6 Ad udlll asy d-d yase vival W2
Wil ydal AS Fud sl du A o33l B, WA 3, sugl 9.184 saleul WAl M woldl «sll
an Hee s3dL W2 8.

186 SR2- U : 10



=B85
500 mtr ‘ 700 mtr )

£
8
% 3
300 mt 3l A\

:ﬁ —r——é

HOME SCHOOL

sugla 9.18 : Rud weldl -sa
WeUb 3
gl 9.1840 2ulal (Fud woaldl sl Gualdl s34 dd ARl Biad Al aRuen wwd A udl
Vs woldid wwoledd 2wl sl :
wig 1w el A3 s udal warll sy A A 300 e Wwl el
wig 2 :ed defl euy A i 800 MR M Wil
wig 3 :¢d omell euy A A 500 M2 wel el AR Wl W A Aba wuad,

wid) 4 :afd w2 amis < dl e AU W ¥ Rl W ol 700 2R el FU uR dll wedl
B edl.

wig 5 :¢d ol suy A uA 600 2w Wewt sue A WR Wl A VLR R FAUA
Woad udhual,

wig 6 : v Fsucell goll suy &A A 300 R wdl

wig 7 :¢d al &AL orel suyyl Wil Rwn A sl

Guarll Gelsael uell 2udl 54l Wl 3 waleizilel sl wgaradl dudl Rl wdlaaed yu
G3ell AN S, 52 Au-AHl ARy S dssu AHAAL G3a WS s syl MEa
52 8. wadlRYA vidlw Fdl wglds cunril auaid »d 8. s aRr HadRun auai wd ul
Al GuRell se Wy @vidle il AR ol AU 8. W, ¢ AL R aviag b
Gew@ 1 :

1l 1000 itk 11 @@ [RAeulyd dvazl-dl uenoll Waddl Ry auil,

wnadllRau :

wig 1 : wie

Wig 2 : Num ¥ Sum & a4 &,

wig 3 : w32uddl Bad Wil Num = 1 ¥ Sum = 0.

Wig 4 : Num & 11 a3 ewll usy dn 8 % 34 d dwl. > %2 Numd 11 @ ewelld v
Ml sl 20 A ey A4 (WA 3) Rul A3 2

R = Num - int(Num/11) * 11

AHRU A unAg [Rusa 187



Wig 5 : A Rell Bud g <L U dl g 7 R il
WiId 6 : Sum = Sum + Num

w4 7 : Num =Num + 1

wig 8 ¢ % Num -(l Batd 100 ol 2l S ol Yol 4 w2 .
wig 9 : Sum B2 .

wag 10 : via

anudl :

A bl W2 20wl Numii e s3dl v 11 @) eualla ¢l wid uedl d-l yals susl ads)
1ol el % Numsil Bad 39 i dl d=l 11 a3 cuotanell vl 3.54545455 Aadlal, A wausi-l
yals slol @S dl d s5d 3 B, s0id Ra ugldl ouor £ v 204 B, oA yails euad 11 wd
JRUAR S 2 dl UL 33 Andlg). A w334 3 v 39x0e sue sl wd dl R
Bud 6 Aadlg. 2w Bad AN 8. 21l A A1y 5220 % int Wil WB & F vl yels euol 20l 8,
Al 2uu8l qReu sl 8.

watel 14 4 and wuydl >ud dai 8. wdie 5 Gur weudell agls andla Andl Bad dwd 8.  dn
= L i L Numll Bad 11 a3 Roulfyd ol 2t 2udd d vl vl adel. ® Num-{l Bad 11
a3 Reulyd i dl vl waal 6 Gu >S5y, 248 Num<l Bd Sumyi GALY wel utdl waral 7-l
wHa s waldl 84 2WuE Num Bad 100 8 3 2l dll aw s3g. 30 dwd gurll s
Alsal w2 quad 8. ud 2 Jd wul YUl Num -l Baid 100 sdi 2091 82 @l Yl 6w+l B
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